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I A seller sold merchandise which has a list price of $4,000 on account . Biving a trade discount of
20%. The entry an the books of the seller is-

a,  Accounts Receivable 3,200

Trade Discounts 8OO
Sales 4 D00

b. Accounts Recejvable 4,000
Sales 4,000

. Accounts Receivable 1,200

Sales Discounts 300
Sales 3,200

d. Accounts Receivahle 31,200
Sales 3,200

e. None of the above.
2. Closing entries fur merchandise-related accounts include all of the following cxcept for:
d. A credil to Sales Discounts.
b. A credit to Merchandise Inventory for the cost of ending inventory
t. A debit to Purchase Discounts,
d. A credit to Transporiation-In.
e. A debit to Sales.
3. During a peried of rising prices, which Inventory method might be expecred o give the highest
nit ingcome?

a. Weighted-average.

b. FIFO,
¢. LIFO.
d. Specific idemtification.

¢.  Cannot determine,
4. Use the following information 1o answer Question:

Balance per bank statement F1,951.20
Balance per ledger 1,865 60
LDeposits in transit 271,20
OQuistanding checks 427 80
MN5F check 61,20
Service charges [3.80

The adjusted cash balance is:

a. $1,794.60 b.51,719.60

c. $1,638.00 d.$1,713.00

e §1,876.20

(3 i 73 37 78 B, 3% 48 0 1628)
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5. Keats Company issued its own 510,000, Q0-day, noninterest-beraring note 1o a bank. I the note
5 discounted at 10%, the procceds 1o Keals are:

a. 10,000,

b. 39,000,

c. $9,750,

d. $10.250.

e. Mone of the above,

6. Hatfield Company purchased a computer on January 2, 1997, Tor $10.000, e computer luad an
estimated salvage value of $3,000 and an estimated useful life of five yeurs. At the Breginning of
999, the estimated salvage valued changed o $1,000, and the coanpuler is expected 1o have a
remaining useful life of two years, Using the straight-line method, the depreciation expense

for] 999 |5

a 31,400
b. $1,750.
c. $2.250
d. $1,800.
e, $3,100.

7. Adtruck costing $45,000 and having an estimated salvage value of $4,500 and an ariginal life of
five years 15 exchanpged for a new truck. The cash price of the new truck is $37.000 and a trade-
in allowance of $22 300 is reccived, The old tuck has been depreciated for three years using the

straight-line method. The new truck would be recorded at:

4. §55.200.
b. $£57.000,
c. $34,500.
d, 543200
e. MNone of the above.

8. Investing activities include all of the following except;
a. Payment of debt.
b. Collection of loans.
c. Making of loans.
d. Sale of uvailable-for-sale and held-to-maturity securitics,
9. Assume cost of goods sold on an accrual basis is $300,000, accounts pavable increased by
520,000, and inventory increased by $30,000 Cush paid for merchandise is:
a. $370,000,
b. $230,000.
¢, $270,000.
d. $330,000,
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L0 Dhvidends payable increased by $10.000 during a year in which totul dividends declared were
$120,000, What amount appears [or dividends paid 1o the statement of cash ows?

a.  $130,000,

b. $120,000,

c. $110,000,

d. 510,000
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